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25��� �
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/ aJ� �� 9���2/��I�0�  F)� � ���>�� ��
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0
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� $&%� �� $)
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SIMCATEC, IRAN Manufacturer 
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48 Uc(KV) 

155 Ures 8/20 

10 In 



$%��� 1�2�� $+�	� F��%� �� 6��# ��0��-�����3��
- (A��� 
��) ��4�7 ��-�����3��
- �WW��� ��� d��
1397 – ;�
�� �;�
5-  

 
 

6.2.  ��2AIS >�#� QG� �
�
 ���  �� �J�� ���9

c
�� 4)* 

) F.!8 (37 9��/ T���� (400/230/63KV  $) �� ;�.� ,W�
 6��# ��-�����3��
- ,� F��!230/63KV  FJ2� ����� F��) ,� �

�� ;�8� �� ����0 s: $� ����� F��) �D�� d���t�� .�0�44Ω  �
 ;� �� l�� ��82�� (�
/80000Km/s ���!��.  

F.! �� ��0)9) �(10) �(11) �(12) �(13�(  1�2�� $+�	� a�-
- $�
 (�/ �� 9�!
0�A63KV  (�/ �� 
�Q#
� �6��# ��-�����3��
-

9��� ;�8� F��) V
= �� �� � F��) $� ����0 s: ?�J-�.(/� 9�!  

  

 ���8 ��� :AIS 
��
� �� �� ���� ���� ����� �� ���� ���  

  

 �#.9  : ���	
 ����
!�.����  �%3 ��63KV  ����������
�� �� �	� 

�"R��� >
��  

  

 �#.10 : ���	
 ����
!�.����  �� ���9 ��
�
 ���"R��� >
�� �	�   

  

  

 �#.11 : ���	
 ����
!�.����  �%3 ��63KV  ����������
�� �� �	� 

B
 !����3
 �"R��� ���9 �� *+
�� 4) 5�J�
 �:� ��  

  

 �#.12 : ���	
 ����
!�.���� � ���9 ��
�
 �� �	�  �B
 !����3
 

�"R���  ��
�� 4) 5�J�
 �:�*+ ���9 �� 

 

 �#.13 : ���	
 ����
!�.����  �%3 ��63KV  ����������
�� �� �	� 

B
 !����3
 �"R��� ��
�
 ��  ��2 

�� 4) 5�J�
 �:�*+ ���9 ��  

  

  

  

  



$%��� 1�2�� $+�	� F��%� �� 6��# ��0��-�����3��
- (A��� 
��) ��4�7 ��-�����3��
- �WW��� ��� d��
1397 – ;�
�� �;�
5-  

 
 

  

 �#.14�
�
 �� !�.���� ���	
 ����
 :�  B
 !����3
 �	�  �� ���9

R���"�  ���
�
� ��2 
 
�� 4) 5�J�
 �:�*+ ���9 ��  

7.  �C"����"0 

$�
! � $G��&� ��� ���2�v
� s/�- ���/ ���+�EMTP-RV  ;�8�
��(37 � ���> I�/ $� ����0 U�&: ;��� �54� I�
�W� $) �0� ��0

 ����> I23�/ $� ?�%2��(37 6���54- M���J: U�&: ��� $� �52�� ��0
��� 6��# ��0��-�����3��
-�2�� $+�	� ��D ���5- �1��0  *�# �28>
�

 ��%���� ;� V�
=� ���� � ����0 U�&: $� $%��� ���:
� �� �!�� �0
��!����.  

 aJ�'
�>��0
� 3)��� �W+� a/���� KO-
� '�+9��G���  ��� T0�) ��
1�2�� $+�	��0  ~
P� 6�
K� �;��0 ����.  �� 
Q�� ��/ ��(37�0��  $)

l��: �� ����0 s:  F��) $� (37 �������  F��
-����! (/� �.�� �
 ?�J-� FB� �� 
�Q#
� aJ�;��0  $� ���� F��) ?�= T���+� �� � 9��
� �+�)

FB� �� 
�Q#
� aJ� ���� ����� F��) $� (37 ��� .�!��  

g��8� 

[1] IEC 60071-1 Edition 8.1 2011-03, Insulation co-ordination – Part 1: 
Definitions, principles and rules. 

[2] Siemens Metal-Oxide Surge Arresters in High-Voltage Power Systems, 
fundamentals, 3rd edition. 

[3] Overvoltage & Insulation Coordination, Lecture6, ELEC-E8409-High 
Voltage Engineering. 

[4] ABB, Overvoltage protection Metal-oxide surge arresters in medium-
voltage systems, 6th revised edition: June 2018. 

[5] Insulation Coordination for Power Systems, A.R.Hileman, copyright 
1999 by Taylor & Erancis Group, LLC 

[6] IEC 60099-5 Edition 3.0 2018-01, Surge arresters- part5: Selection and 
application recommendation. 

 


